Mazenod College





PLEASE ORDER ONLINE AT www.campion.com.au USING "GJW5" AS YOUR CODE BEFORE Friday 8th December 2017 OR

SEND YOUR COMPLETED LIST TO CAMPION VIA DETAILS BELOW Orders can still be placed past the 'return date' but it may incur a late fee.

ALL ORDERS MUST BE PREPAID

	STUDE	NT SURN	AME				
				1 1 1		<u> </u>	
			1 1	STATE		POST C	ODE
very							
ENT - WILL BE	PROCE	SSED	AT TIME (OF ORDER	ENTR	Υ	
holder's Name: –							
	enders very here ENT - WILL BE	enders every here ENT - WILL BE PROCE	enders livery here L ENT - WILL BE PROCESSED	enders livery here L ENT - WILL BE PROCESSED AT TIME (enders ENT - WILL BE PROCESSED AT TIME OF ORDER	enders ENT - WILL BE PROCESSED AT TIME OF ORDER ENTRY	enders ENT - WILL BE PROCESSED AT TIME OF ORDER ENTRY

Your home delivery order will be dispatched the week ending 12th January 2018, if placed on or before Friday 8th December 2017.

Home delivery orders received before the cut-off date of Friday 8th December will have FREE delivery. Orders can still be placed after the cut-off date but a late fee of up to \$17.50 will be charged.

Please note: Any orders being returned to Campion by mail must be received two days prior to the cut off date at the top of this page to ensure your order does not incur a late fee.

BOARDERS: Please tick the boarder box at the front of the Resource List and enter the School Address.



How to order your resources

Helping your school / college

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

Options to order

Home delivery

- Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
- · Ordering instructions
 - 1. Log on to www.campion.com.au
 - 2. Click on Online ordering for parents and students.
 - 3. Create your account.
- Please note: Creating an account enables you to track your delivery through Australia Post, place orders for multiple students in multiple schools with just one payment, amend your order and retrieve digital access for ebooks.
 - 4. Select your school and enter in your 4-digit Resource List code, which is on the front page of this resource list.
 - 5. Select the year level and then choose the items you want to purchase. Then click on continue.
 - 6. Enter in your delivery option and complete details.
 - 7. Review and complete purchase.
 - 8. Once completed an order confirmation will be sent to your email address.
- 9. If you have purchased any ebooks you will receive a seperate activation email. You will need to follow the instructions within the email to complete the set up of each product.
- Boarders

If you wish your order to be delivered to the school, please tick the 'Boarders' box on the front of your list (where applicable) and put your boarding house address in the address field.

Late Orders

Orders can still be placed online after your school's cutoff date, however these are considered late orders and may incur additional charges. **Delivery of these orders cannot be guaranteed prior to the commencement of the school year.**

'While You Wait' collection service (Malaga or Willetton)

Please note long delays can be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

NEW retail store in Malaga - We've moved!

751 Marshall Road, Malaga (next to Stratco)



Willetton - 28/32 Kembla Way, Willetton



Trading Hours

Monday - Friday 9:00 am - 5:00 pm

Extended Trading Hours (13th Jan 2018 - 3rd Feb 2018) Saturdays 8:30am - 2.00pm

Refunds

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to February 2018 or 2 weeks after the purchase date (whichever is later).

Digital products and Stationery items cannot be refunded.

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

Have a Question?

Our website has answers to just about every question you might have, whether it's how to place your order, how to access your digital products or where to find our stores.

Visit www.campion.com.au/parents and find the answers you need quickly and easily.

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SCHOOL RESOURCES					
	YEAR 10 EBOOKS & RESOURCES Electronic books and school-purchased resources to be purchased through Mazenod. To be charged on Term 1 fees \$170.00					
	ART					
P60008	Pencil Lumograph Sketching Set of 6	1		1	13.95	13.95
P50528	Charcoal Peel & Sketch Pencil Soft	2		1	4.60	4.60
P51805 P58197	Eraser Pen shaped clic style	3		1	3.65	3.65
P50207	Visual Art Diary A4 110gsm 60 Sheet/120 Page Marker Osmer Fine Point 0.6 Black	4 5		1	5.45 3.90	5.45 3.90
	BUSINESS AND COMMERCE					
P55442 P55551	Display Book A4 20 Pocket Black Refillable Exercise Book A4 8mm 96 Page	6 7		1 1	1.95 1.25	1.95 1.25
	COMPUTER PROGAMMING	·	_	·	0	5
	Sennheiser Head Phones to be retained from previous year or					
	purchased through the College @ \$20					
	DESIGN					
P50271	Pencil (HB) Goldfaber	8		1	0.55	0.55
P52092	Pencil (2H) Goldfaber	9		1	0.55	0.55
	DIGITAL TECHNOLOGIES					
P55554	Headphones - to be supplied by the College Exercise Book A4 8mm 128 Page	10		1	1.80	1.80
	DRAMA					
P58550	Pencils-Coloured Micador Water Soluble Pkt 12's	11		1	5.50	5.50
P55554	Exercise Book A4 8mm 128 Page	12	\equiv	1	1.80	1.80
P55442	Display Book A4 20 Pocket Black Refillable	13		2	1.95	3.90
	All Drama students to supply their own stage "blacks". This includes a black t-shirt and black track suit pants.					
	ELECTRONICS No Text Required					
	ENGLISH (EXTENDED)					
P11110	To Kill A Mockingbird (Vintage Classic) [Harper Lee]	14		1	14.99	14.99
P06446	I Am Legend (SF Masterworks Series 2) [Richard Matheson]	15		1	22.99	22.99
P04730	Othello (Cambridge School Shakespeare) (3E) [Coles (Ed.)]	16		1	14.95	14.95
P03066	Three Theban Plays (Penguin Classics) [Sophocles (Translated by Robert Fagles)]	17		1	24.99	24.99
P55442	Display Book A4 20 Pocket Black Refillable	18		2	1.95	3.90
P55554	Exercise Book A4 8mm 128 Page	19		2	1.80	3.60
P04741	ENGLISH (INDUSTRY & ENTERPRISE) Skillworks 4 AC Edition Student Book + obook/assess(3rd edn) [Ford &	20		1	20.95	20.95
	Haywood]	_0	_	·	20.00	_0.00
P05425	The Dead I Know (P/B) [Gardner]	21		1	19.99	19.99
P55442	Display Book A4 20 Pocket Black Refillable	22		2	1.95	3.90
P55551	Exercise Book A4 8mm 96 Page	23		2	1.25	2.50

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ENGLISH (STANDARD)					
P11110	To Kill A Mockingbird (Vintage Classic) [Harper Lee]	24		1	14.99	14.99
P05236	Curious Incident of The Dog In The Night-Time (Novel) [Mark Haddon]	25		1	19.99	19.99
P55442	Display Book A4 20 Pocket Black Refillable	26		2	1.95	3.90
P55551	Exercise Book A4 8mm 96 Page	27		2	1.25	2.50
	HEALTH & PHYSICAL EDUCATION					
P55554	Exercise Book A4 8mm 128 Page	28		1	1.80	1.80
	HUMANITIES & SOCIAL SCIENCE					
P55554	Exercise Book A4 8mm 128 Page	29		2	1.80	3.60
	MATHEMATICS (EXTENDED)					
P55442	Display Book A4 20 Pocket Black Refillable	30		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	31		2	1.25	2.50
P52830	Calculator Casio Scientific FX-82AU Plus II	32		1	32.95	32.95
P55669	Graph Pad A4 1mm 25/40 Leaf 7 Hole Punched	33		1	2.05	2.05
P50154	Compass Maped Study SY120 Metal with Pencil	34		1	3.40	3.40
P56353	Protractor 10 cm 180 4" Half Circle	35		1	0.45	0.45
P50229	Mathomat (4th Edn) - With Book	36		1	26.50	26.50
	MATHEMATICS (INDUSTRY & ENTERPRISE)					
P52830	Calculator Casio Scientific FX-82AU Plus II	37		1	32.95	32.95
P55442	Display Book A4 20 Pocket Black Refillable	38		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	39		2	1.25	2.50
P56353	Protractor 10 cm 180 4" Half Circle	40		1	0.45	0.45
P55669	Graph Pad A4 1mm 25/40 Leaf 7 Hole Punched	41		1	2.05	2.05
	MATHEMATICS (STANDARD & STANDARD 3)					
P52830	Calculator Casio Scientific FX-82AU Plus II	42		1	32.95	32.95
P55442	Display Book A4 20 Pocket Black Refillable	43		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	44		2	1.25	2.50
P56353	Protractor 10 cm 180 4" Half Circle	45		1	0.45	0.45
P55669	Graph Pad A4 1mm 25/40 Leaf 7 Hole Punched	46		1	2.05	2.05
P50229	Mathomat (4th Edn) - With Book	47		1	26.50	26.50
	METALWORK					
	No requirements					
	MUSIC					
P14243	How To Blitz Musicianship Grade 2 (2e)(1001394471) [Samantha Coates]	48		1	19.95	19.95
P55442	Display Book A4 20 Pocket Black Refillable	49		1	1.95	1.95
P55907	Music Book A4 48 Page Feint & Staved	50		1	2.00	2.00
	Headphones - to be supplied by the College					
	OUTDOOR EDUCATION No Text Required					
	RELIGIOUS EDUCATION (ALL COURSES)					
P00526	Catholic Youth Bible (H/B)(International Edn)(NRSV)(2nd edn)	51		1	54.95	54.95
	(Retain from last year)					
P55442	Display Book A4 20 Pocket Black Refillable	52		1	1.95	1.95
P55551	Exercise Book A4 8mm 96 Page	53		2	1.25	2.50

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SCIENCE (EXTENDED, STANDARD & STANDARD 3)					
P10977	Pearson Science 10 SB/EB/AB 2E [Rickard et al]	54		1	59.95	59.95
	As this includes a workbook, it must be purchased NEW.		_			
P55554	Exercise Book A4 8mm 128 Page	55		2	1.80	3.60
	SCIENCE (INDUSTRY & ENTERPRISE)					
P55554	Exercise Book A4 8mm 128 Page	56		2	1.80	3.60
	SPECIALISED PHYSICAL EDUCATION					
	No text required					
	SPORT SCIENCE					
P55551	Exercise Book A4 8mm 96 Page	57		2	1.25	2.50
P55669	Graph Pad A4 1mm 25/40 Leaf 7 Hole Punched	58		1	2.05	2.05
	WOODWORK					
	No Text Required					
P50271	Pencil (HB) Goldfaber	59		1	0.55	0.55
	VOCATIONAL EDUCATION (INDUSTRY & ENTERPRISE) No Text Required					
	GENERAL STATIONERY					
P55522	Eraser Plastic Pencil Economy in sleeve	60		1	0.70	0.70
P51353	Glue Stick Artline Purple 40gm	61		1	2.50	2.50
P50186	Highlighter Marker - Yellow	62		1	1.55	1.55
P56095	Pen Ballpoint Cap Type Blue Medium	63		1	0.35	0.35
P56096	Pen Ballpoint Cap Type Red Medium	64		1	0.35	0.35
P56213	Pencil Case Name Large 325mm x 165mm	65		1	2.95	2.95
P52001	Pencil (2B) Goldfaber	66		1	0.55	0.55
P58550	Pencils-Coloured Micador Water Soluble Pkt 12's	67		1	5.50	5.50
P56414	Ruler 300mm Plastic Clear	68		1	0.70	0.70
P50465	Scissors 216mm Orange Handle	69		1	2.95	2.95
	Number of Boxes ticked:					
	Delivery, packaging & hand	dling	\$0.0	0		

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 26/10/17)